F E & 52 &
SFITH6H 30 H

F£AHB i TEEH |FERSIOHE|HEK) 28 (ke) £ No.
R7.6.30 |fZL\CA H Y 10 ®
R7.6.30 |ZULN\CA FIE w4 10 @
R7.6.30 |fZL)\CA At i) - @
R7.6.30 |IZALA FIE w4 10 @
R7.6.30 |ICALA At i) - @
R7.6.30 |l&<&Ly RE ) 15 €]
R7.6.30 |l&<&Ly At i) - ©)]
R7.6.30 |FvA_Y 3 w4 10 @
R7.6.30 |Fv~_Y FE i) 10 @
R7.6.30 ¥~y &% BY = @
R7.6.30 |RHLV™ BE i) —=R ®
R7.6.30 |*hyLyy RH ) —R ®
R7.6.30 |RoLYY &5t Y = ®
R7.6.30 |ta¥ (F) il ) —R ®
R7.6.30 [fa¥ (M) B3] By 5 ®
R7.6.30 |ta& (H) FE Y 5 ®
R7.6.30 [©¥ &5t Y = ®
R7.6.30 |L&X £EH Y 10 @
R7.6.30 [L AR a5t Y = @
R7.6.30 |Ep3Y(XR—3—) e Y 507 ®
R7.6.30 |Zw35Y(H) R Y 5
R7.6.30 |Zw3Y(H) FHlE Y 5 ®
R7.6.30 |Zp35Y |t Y 11.0
R7.6.30 |MMFEbL+ BR Y 10 ©
R7.6.30 |AMFHe FE Y 10 ©)
R7.6.30 | F5H &F Y = ®
R7.6.30 |49 () ] By 5
R7.6.30 |%9 (%@) B0 Y 5 ®
R7.6.30 |79 (&) ] Y 3
R7.6.30 |%9 (&) REAR ) 4 ®
R7.630 (%3 &t ) = 0
R7.6.30 |F<h FHfE ) 4 @
R7.630 [FTh LB By 4 @
R7.6.30 |r<k Ch Y = ()
R7.6.30 |[E—<> K Y 0.15 ()
R7.6.30 |[E—<> Ch Y = [©)
R7.6.30 [&£53AC2L Y Y 5

R7.6.30 |&53H5CL il ) 5

R7.6.30 [£53AC2L At i) -

R7.6.30 |Z-FEH F0E ) 0.2

R7.6.30 |z 1ZFEsH At i) -

R7.6.30 |[Ehi L& B4FE #Y 10 ®
R7.6.30 [IEhlrL& R Y 10 ®
R7.6.30 |IEFhL L& Ch Y = ®
R7.6.30 |f=Fh&E Fll Y 20 ®
R7.6.30 |f=Ffa¥ 35 #Y 20 ®
R7.6.30 |f=Fh&E At Y = ®
R7.6.30 |EL&SH FRE ) —=R

R7.6.30 |EL&SH &t Y -

R7.6.30 |&£LL V=l BHfE ) 0.1 ®
R7.6.30 |£LULM=IT At Y = ®
R7.6.30 |ZDEIT ¥ ) 0.2

R7.6.30 |ZDEFIF At Y -

R7.6.30 |S4L&HL R ) 0.1

R7.6.30 |A7ZL&HL FhiE i) 0.1

R7.6.30 |S4L&HL AaF Y -

R7.6.30 [5& FhiE i) 10

R7.6.30 [5& R ) 10

R7.6.30 [5& At Y -

R7.6.30 |&t Y 11.0

R7.6.30 |#a% Y 11.0

1/4




x B & e i &

SFITH6H 30 H
F£AHB i TEE |FERSIOFE| HEW |28 (ke)| HIEM) FiE () ZiEM) No.
R7.6.30 |fZL\CA H AHxt 75 10 1404 1188 972 ®
R7.6.30 |FEL\CA FIE Lizkss 0.5 10 648 @
R7.6.30 |fZL)\CA At AExt 8.0 ®
R7.6.30 |IZALA FIE Xt 6.3 10 2484 2160 1944 @
R7.6.30 |ICALA At AExt 7.0 @
R7.6.30 |1H<&LY E%H %t 10.7 15 1080 756 648 ®
R7.6.30 |l&<&Ly At AExt 10.7 ®
R7.6.30 [F+v~Aw B3 #axt 17 10 972 972 864 @
R7.6.30 [F+v~AY FE AHxt 10 @
R7.6.30 |Fr~Y Ch LizEss 227 @
R7.6.30 |RHLV™ BE AHxt —=R ®
R7.6.30 |RoLy™y R Xt —® ®
R7.6.30 [fhoL2yY™ |t A%t 0.6 ®
R7.6.30 |ta¥F () il LiEES 06| —3X 162 140 81 ®
R7.6.30 |[a¥(A) R AExE 1.0 5 2700 1620 1350 ®
R7.6.30 |ta¥(Q) FE Haxt 0.6 5 3024 2376 1296 ®
R7.6.30 |ta¥F |t A%t 25 ®
R7.6.30 |[LAX % Xt 10.8 10 177 @
R7.6.30 [L AR |t A%t 10.8 @
R7.6.30 |[E®5Y(RX—3—) FHiE LiEES 0.1 504 2484 1080 864 ®
R7.6.30 |Zw35Y(H) R AHxt 2.6 5 2214 2160 1890
R7.6.30 |Z03Y(H) il Haxt 0.5 5 1620 1188 972 ®
R7.6.30 |Zp35Y |t A%t 47
R7.6.30 |MMFEbL+ BR LiEES 10 ©
R7.6.30 |MEbH% ] A%t 10 [©)
R7.6.30 |AMFH% Ch LiEES 0.2 ©)
R7.6.30 |49 (%&) S A%t 05 5 2160 1944 1728
R7.6.30 (%9 (5@) B0 Xt 0.1 5 2376 2376 1512 ()
R7.6.30 |79 (&) ] A%t 3
R7.6.30 |%29 (&) REAR Haxt 1.4 4 1836 1512 972 ®
R7.6.30 |%9 At ARt 45 ®
R7.6.30 [k<h il Haxt 2.1 4 1512 1080 972 ()
R7.6.30 [F<h X A%t 0.9 4 1296 1188 1080 ™
R7.6.30 |r<k Ch A%t 8.3 [©)
R7.6.30 |[E—<> K A%t 1.7 0.15 103 103 70 ®
R7.6.30 |E—<> aF A%t 2.0 [©)
R7.6.30 [&£53AC2L Y A%t 18 5 1944 1296 1080
R7.6.30 |&53H5CL il LiEES 0.4 5 3078
R7.6.30 [£53AC2L At At 29
R7.6.30 |Z12&EH F0E LiEES 0.9 0.2 216 216 184
R7.6.30 |ZF-EH At At 0.9
R7.6.30 |IEhi L& il Lizksy 5.3 10 2700 1944 1836 ®
R7.6.30 |IFhi L& R A%t 10 ®
R7.6.30 |lE¥hirL& aF A%t 5.6 ®
R7.630 |f=Fh& EJ] A%t 15.0 20 2700 2700 2376 ()
R7.6.30 |f-FH& ER Lizksy 20 ®
R7.6.30 |f=Fh&E At A%t 15.3 ®
R7.6.30 |EL&SH LGlE] A%t 0.1 —R 130 130 119
R7.6.30 |EL&LSH At A%t 0.1
R7.6.30 |£LLV=IF FRE fizbol 0.3 0.1 173 108 81 ®
R7.6.30 |£LULM=IT At A%t 03 ®
R7.6.30 |ZDEIT ¥ A%t 0.4 0.2 59 56 54
R7.6.30 |ZDEFIF At A%t 0.4
R7.6.30 |S4L&HL R A%t 0.3 0.1 79 79 38
R7.6.30 |A7%L&HL FhiE ik 0.5 0.1 68 68 59
R7.6.30 |S4L&HL AaF AExt 0.9
R7.6.30 [5& FhiE ik 10
R7.6.30 [5& N A%t 10
R7.6.30 |37zL&HL At A%t -
R7.6.30 |&t AExt 108.4
R7.6.30 |#a% ARt 108.4
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i

*F E & B KR O i B W

SHTH6H30H
£AAH RS FTEEM |FRERSIOAE|#HEKe)| 28 (kg)| BEM) | FEME) | REWM) ik
R7.6.30 |#MA (1N IR) 5] Y 04
R7.6.30 |#MA a5 Y -
R7.6.30 [YAC (Card—ILR) |EHk By 10 @
R7.6.30 |YAT (5L) & BEY 10 @
R7.6.30 YA (F/3—0LK) |&EH Y 10 @
R7.630 [YAC &% ) = D
R7.6.30 (U1 FriE Y 0.4
R7.6.30 (U1 L ) -
R7.6.30 [t ITE] Y 5 @
R7.6.30 |3 il BEY 0.5 @
R7.6.30 |34 &5 Y = @
R7.6.30 |F7H% [T Y 0.5
R7.6.30 |971% 5] ) 0.5
R7.6.30 |§H% L Y -
R7.6.30 |8£5&5 1} Y 0.2
R7.6.30 |&5&5 = Y -
R7.6.30 | SRES(TTILIT) PN Y 0.3
R7.6.30 |3ES L Y -
R7.6.30 [AQA(F—ILR) B Y 8 ®
R7.6.30 |AOU(TUFR) B35 By 5 ®
R7.6.30 [AO(Z D) B3] Y 5 )
R7.6.30 [*O> &% By = S
R7.6.30 |3 L\AN(/\HR) B3] Y 15 @
R7.6.30 |3 L\AN(/\ D R) Gl By 15 @
R7.6.30 |3 L\AN(/\HR) B4 Y 15 @
R7.6.30 |3 L\AN(/\ D R) BEA By 15 @
R7.6.30 |9 L yin &t Y = @
R7.6.30 |&t Y -
R7.6.30 |#a&t i = min:RE
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F E & B Kk % i B #® &

SHTH6H30H
F£HH8 ff FTEEH |FERSIOAE| H=E20W[28 (ke)| BEWH) F{E (M) ZiE (M) ik No.
R7.6.30 |#MA (1N IR) FriE Xt - 0.4
R7.6.30 |#MA a5 LisEs) -
R7.6.30 (VAT (P3F+Id—ILR) |&FH Hxt - 10 ©)
R7.6.30 (AT (L) B A%t 0.2 10 5,400 @
R7.6.30 |YAZ (S /d—ILR) |FF& ks 0.1 10 5,400 ®
R7.6.30 (VAT L Lisbsl 0.4 @
R7.6.30 (U1 FriE Hxt - 0.4
R7.6.30 (U1 L Lisbsl -
R7.6.30 |3% [T HExt 1.5 5 5,940 4,104 3,780 @
R7.6.30 |34 FhhE Lisks - 05 @
R7.6.30 (6% Ak Xt 15 )
R7.6.30 |F7H% [T Lisks 0.1 0.5 410 378 346
R7.6.30 |F7£% FhiE Lizks) 0.1 0.5 454 432 378
R7.6.30 |§H% L A% 0.3
R7.6.30 [£5&5 1} Haxt 0.2
R7.6.30 [£5&5 = A% 0.1
R7.6.30 [RES(TFVLIT) PN Haxt 0.1 0.3 432 432 410
R7.6.30 |3ES = A% 0.1
R7.6.30 [AQ(F7—ILR) FhiE Haxt 0.4 8 18,360 9,180 5,940 ®
R7.6.30 |AQ(FUTR) RI A% - 5 ®
R7.6.30 (AR (F D) I Haxt 0.3 5 2,916 1,404 ®
R7.6.30 |*A> L A% 0.9 ®
R7.6.30 [FLIA(/\HR) I Haxt 0.6 15 3,996 3,780 @
R7.6.30 | LD (/\IR) Frhe A% 15 @
R7.6.30 [FLIA(/\HR) ZH Haxt 15 @
R7.6.30 | LV (/\IR) RER A% - 15 @
R7.6.30 |3 L A At Haxt 34 @
R7.6.30 |&t Lisks} 6.7
R7.6.30 |#a&t Haxt 6.7 iR RE
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